REVIEW: Comparing Multi-Digit Name

Whole Numbers
~Key Concept and Vocabulary ~ Visual Model
|s Iess than Thousands Period Ones Period
ampanng
Hundreds | Tens | Ones | Hundreds | Tens | Ones
576,412 < 576,413
5 7 6, 4 1 2
576,413 > 576,412 : | 6 p : 3
N\ J
Skill Examples Application Example
1. 6,489 > 6,429 5. According to arecent U.S. Census, the
population of Pittsburgh, PA, is 305,704 and
2. 83,563 < 87,356 the population of Corpus Christi, TX, is
305,215. Which city has a greater population?
3. 296,872 > 296,472

PRACTICE makes PURR-FECT®

105,834 < 125,834

Compare.
6. 2,584 | < | 2,854 7. 67,392 | > | 61,392
9. 33,783 | > | 33,782 10. 904,512 | < | 904,612
12. 456,789 | > | 456,780 13. 359,922 | > | 259,922
15. 626,846 | > | 62,684 16. 86,123 | < | 86,132
18. seven hundred six thousand, ninety-five | < | 760,095

19.

20.

21.

22,

118,540 | > | eighteen thousand, five hundred forty

three thousand, seven hundred thirty-three | < | 373,300

8. 5,654

11. 19,258
14. 741,364

17. 969,699

305,704 > 305,215

Check your answers at BigldeasMath.com.

> | 5,645

< 191,258

< | 743,164

< | 969,966

ATTENDANCE A football team’s yearly attendance was 588,942. A hockey team’s yearly
attendance was 528,946. Which team had a greater yearly attendance?

the football team

PINBALL The high score of a pinball game is 346,923. You score 364,239 points. Your
friend scores 346,293 points. Did either of you beat the high score?

Yes, you beat the high score.
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Pittsburgh, PA, has a greater population.




